

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form 990-PF

Return of Private Foundation or Section 4947(a)(1) Nonexempt Charitable Trust Treated as a Private Foundation

OMB No 1545 0052

2009

Department of the Treasury Internal Revenue Service

Note: The foundation may be able to use a copy of this return to satisfy state reporting requirements

For ca	lendar year 2009, or tax year beginning	, 2009	, and ending	,	
G Ch	eck all that apply Initial return Init	al Return of a former p	oublic charity	Fin	al return
	Amended return	Address	change Name	change	
		7 100,000	A	Employer identification nu	mber
Use t IRS la			^	95-4790803	
Otherv			B	Telephone number (see the	unstructions)
prır	IT LING ANGELES OF SOUSA				instructions)
or typ See Spe	pe		L-	310 552-0770	
Instruct			c	If exemption application is	· · · · —
		 		1 Foreign organizations, che	L
H Ç		1(c)(3) exempt private t		2 Foreign organizations mee	
	Section 4947(a)(1) nonexempt charitable t		private foundation	here and attach computation If private foundation status	
	form Boot II and once (a) for 10)	counting method. X C	ash Accrual 5	under section 507(b)(1)(A)	
(1		Other (specify)	F	If the foundation is in a 60	
<u>► \$</u>		column (d) must be or	n cash basis)	under section 507(b)(1)(B)	, check here.
Part I		(a) Revenue and	(b) Net investment	(c) Adjusted net	(d) Disbursements
	Expenses (The total of amounts in	expenses per books	income	income	for charitable
	columns (b), (c), and (d) may not neces- sarily equal the amounts in column (a)				purposes
	(see the instructions)				(cash basis only)
	1 Contributions, gifts, grants, etc. received (att sch)	300,000.		<u> </u>	
	2 Ck rif the foundn is not req to att Sch B				
	3 Interest on savings and temporary				
	cash investments	51,243.	1,972		
	4 Dividends and interest from securities	8,118.	8,118.	8,118.	
C	5a Gross rents b Net rental income				
3.	or (loss)	10.554			
R/	6a Net gain/(loss) from sale of assets not on line 10 b Gross sales price for all QQ7 76Q	19,654.		 	
Z,	b Gross sales price for all assets on line 6a 997,769.				
E.s	7 Capital gain net income (from Part IV, line 2)		19,654.		
HUE MENTY	8 Net short-term capital gain			4,523.	
¥	9 Income modifications		· ····		
	10 a Gross sales less returns and allowances				
Щ	h Less Cost of			 	<u> </u>
GLANNED	goods sold				
≨	c Gross profit/(loss) (att sch)	·		ļ	
3	11 Other income (attach schedule)				
<u> </u>	10 T-A-1 A-1-1-1-1	270 015	00 744	62 004	
	12 Total. Add lines 1 through 11	379,015. 0.	29,744.	63,884.	
	13 Compensation of officers, directors, trustees, etc	0.		1	
	14 Other employee salaries and wages			 	
	15 Pension plans, employee benefits				
A	16a Legal fees (attach schedule)	1 000	250		750
M	b Accounting fees (attach sch) SEE ST 1	1,000.	250.	RECEIV	750.
Ņ	c Other prof fees (attach sch)			T TOPIV	
P S T R	17 Interest	1 (22		101	79 05
O PERAT	18 Taxes (attach schedule)(see instr.) SEE STM 2	1,633.		18 JUL 26 2	010 85.
A A	19 Depreciation (attach sch) and depletion			11 L	5
N V	20 Occupancy			000	
N V G E	21 Travel, conferences, and meetings			L OGDEN	117 -1
A E N X D P	22 Printing and publications	· · · · · · · · · · · · · · · · · · ·			
A E N X D P	23 Other expenses (attach schedule)				
E	SEE STATEMENT 3	11,449.	11,449.		
S	24 Total operating and administrative				
รั	expenses. Add lines 13 through 23	14,082.	11,699.		835.
	25 Contributions, gifts, grants paid PART XV	134,085.		ļ	134,085.
	26 Total expenses and disbursements.	140 167	11 600		124 020
	Add lines 24 and 25 27 Subtract line 26 from line 12:	148,167.	11,699.	0.	<u>134,920.</u>
	a Excess of revenue over expenses				
	and disbursements.	230,848.			
	b Net investment income (if negative, enter -0-).		18,045.	1	1
	C Adjusted net income (if negative, enter -0-)	-	<u> </u>	63,884.	
				<u> </u>	

Page 2

Part	· II	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only (See instructions)	Beginning of year		d of year
			(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash — non-interest-bearing .			
	2	Savings and temporary cash investments	1,728,071.	1,339,57	9. 1,339,579.
	3	Accounts receivable			
	١ ـ	Less allowance for doubtful accounts			
	4				
	_ ا	Less allowance for doubtful accounts			
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other disqualified persons (attach schedule) (see the instructions).			
	7	Other notes and loans receivable (attach sch)			
A		Less: allowance for doubtful accounts			
S	8	Inventories for sale or use			
A S E T	9	Prepaid expenses and deferred charges			
Ś	10:	a Investments – U.S. and state government			
		obligations (attach schedule)	1 523,319.	380,41	
		b Investments — corporate stock (attach schedule)	328,240.	468,22	
	'	c Investments — corporate bonds (attach schedule)	49,718.	671,97	2. 682,630.
	11	Investments — land, buildings, and equipment basis			
		Less: accumulated depreciation (attach schedule)			
	12	Investments – mortgage loans			
	13	Investments – other (attach schedule) .			
	14	Land, buildings, and equipment basis.			
		Less: accumulated depreciation (attach schedule)			
		Other assets (describe Total assets (to be completed by all filers — see instructions. Also, see page 1, item I).	2,629,348.	2,860,19	5. 2,872,379.
L	17		2,023,310.	2/000/13	2,0,2,3.3.
Ī	18	Grants payable			
A B	19	· ·			
!	20	Loans from officers, directors, trustees, & other disqualified persons		•	
ī	21	Mortgages and other notes payable (attach schedule)			
Ţ	22				,
Ė		T 1 17 17 17 17 17 17 17 17 17 17 17 17 1	0		
<u> </u>	23	Total liabilities (add lines 17 through 22) Foundations that follow SFAS 117, check here X X	0.	· · · · · · · · · · · · · · · · · · ·	<u>) . </u>
		Foundations that follow SFAS 117, check here and complete lines 24 through 26 and lines 30 and 31.			
N F E U T N	24	 	2,629,348.	2,860,19	5.
ŤŇ	25	Temporarily restricted			
A D	26	Permanently restricted.			-
A B A L A		Foundations that do not follow SFAS 117, check here and complete lines 27 through 31.			
EL	27	Capital stock, trust principal, or current funds			
SN	28	Paid-in or capital surplus, or land, building, and equipment fund			
OE	29	Retained earnings, accumulated income, endowment, or other funds			1
RS	30	Total net assets or fund balances (see the instructions)	2,629,348.	2,860,19	5.
	31	Total liabilities and net assets/fund balances (see the instructions)	2,629,348.	2,860,196	5.
Part	: 111	Analysis of Changes in Net Assets or Fund Balance	es		
1	Tota end-	l net assets or fund balances at beginning of year – Part II, colu of-year figure reported on prior year's return)	mn (a), line 30 (must ag		2,629,348.
2		er amount from Part I, line 27a		·	2 230,848.
3		increases not included in line 2 (itemize)			3
4		lines 1, 2, and 3			2,860,196.
5		ases not included in line 2 (itemize)			5
6	Tota	I net assets or fund balances at end of year (line 4 minus line 5)	- Part II, column (b), lii	ne 30	6 2,860,196.

2-story brick warehouse; or common stock 200 shares MI C Company)				(b) How acquired P — Purchase D — Donation	(c) Date acquired (month, day, year)	(d) Date sold (month, day, year)	
1 a	SEE STATEMENT 4	·····					
b							
C	· v						
d	1						
е	•						
	(e) Gross sales price	(f) Depreciation allowed (or allowable)	(g) Cost or other basis plus expense of sale		(h) Gain or (e) plus (f) m		
а	1						
b)						
	· 					.	
d							
е		<u> </u>					
		ing gain in column (h) and owned by			(I) Gains (Colu		
	(i) Fair Market Value as of 12/31/69	(j) Adjusted basis as of 12/31/69	(k) Excess of column (over column (y), if any		jain minus column (k an -0-) or Losses (fr	om column (h))	
a	1						
b)						
С							
d	<u> </u>	<u> </u>	· · · · · · · · · · · · · · · · · · ·				
е		<u> </u>			1		
	Capital gain net income or (net	capital loss) — If gain, also if (loss), en loss) as defined in sections 1222(5)	enter in Part I, line 7 ter -0- in Part I, line 7	2		19,654.	
•		e 8, column (c) (see the instructions)	· · · · · · · · · · · · · · · · · · ·	3		4,523.	
Par		Section 4940(e) for Reduce	d Tax on Net Investmen	nt Income	!		
If 'Ye	es,' the foundation does not qual	tion 4942 tax on the distributable an ify under section 4940(e) Do not con n each column for each year; see th	mplete this part		Yes	X No	
				any entities	(d)		
	(a) Base period years Calendar year (or tax year beginning in)	(b) Adjusted qualifying distributions	(c) Net value of noncharitable-use asse	ets (coli	Distribution umn (b) divided		
	2008	126,008.	2,386	,137.		0.052808	
	2007	125,146.	2,139	,160.		0.058502	
	2006	78,235.	1,769	,120.		0.044223	
	2005	55,947.	1,308			0.042749	
	2004	56,535.	1,070	,775.	· · · · · · · · · · · · · · · · · · ·	0.052798	
2	Total of line 1, column (d)	2 Total of line 1 column (d) 2 0 25108					
3 Average distribution ratio for the 5-year base period — divide the total on line 2 by 5, or by the number of years the foundation has been in existence if less than 5 years				2		0.251080	
3	Average distribution ratio for th number of years the foundation	e 5-year base period – divide the to i has been in existence if less than 5	otal on line 2 by 5, or by the syears	3		0.251080	
3	number of years the foundation	e 5-year base period — divide the to has been in existence if less than 5 table-use assets for 2009 from Part	i years		- 2		
	number of years the foundation	has been in existence if less than 5	i years	3	2	0.050216	
4	Enter the net value of nonchari	i has been in existence if less than 5 table-use assets for 2009 from Part	i years	3	2	0.050216	
4 5 6	Enter the net value of nonchari Multiply line 4 by line 3	i has been in existence if less than 5 table-use assets for 2009 from Part	i years	3 4 5	2	0.050216 2,664,044. 133,778.	
4 5 6 7	Enter the net value of nonchari Multiply line 4 by line 3 Enter 1% of net investment inc	i has been in existence if less than 5 table-use assets for 2009 from Part ome (1% of Part I, line 27b)	i years	3 4 5	2	0.050216 2,664,044. 133,778. 180.	

Parl	t VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 - see the instruc	tions)		
1 a	Exempt operating foundations described in section 4940(d)(2), check here]
	Date of ruling or determination letter (attach copy of letter if necessary - see instr.)			
b	Domestic foundations that meet the section 4940(e) requirements in Part V,			L80.
	check here ► X and enter 1% of Part I, line 27b			Ì
c	: All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, column (b)			Ì
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only Others enter -0-)			J
3	Add lines 1 and 2			180.
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)			0.
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-			<u> 180.</u>
6	Credits/Payments:			1
а	2009 estimated tax pmts and 2008 overpayment credited to 2009 . 6a 1, 180.			1
b	Exempt foreign organizations — tax withheld at source 6b			l
c	: Tax paid with application for extension of time to file (Form 8868).			1
d	Backup withholding erroneously withheld	·		
7	Total credits and payments Add lines 6a through 6d 7		1,:	L80.
8	Enter any penalty for underpayment of estimated tax. Check here			
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed			0.
10	Overpayment If line 7 is more than the total of lines 5 and 8, enter the amount overpaid.		1,0	000.
11	Enter the amount of line 10 to be: Credited to 2010 estimated tax			Ö.
Parl	t VII-A Statements Regarding Activities			
1 9	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it		Yes	No
1 4	participate or intervene in any political campaign?	1 a		X
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see the instructions for definition)?	1 b		<u>x</u>
	If the answer is 'Yes' to 1a or 1b , attach a detailed description of the activities and copies of any materials published or distributed by the foundation in connection with the activities.			
	: Did the foundation file Form 1120-POL for this year?	1c		X
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:			
e	(1) On the foundation Set Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation managers. Solution (2) On foundation managers O. O.			
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2	-	X
	If 'Yes,' attach a detailed description of the activities			
	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or bylaws, or other similar instruments? If 'Yes,' attach a conformed copy of the changes	3		X
	Did the foundation have unrelated business gross income of \$1,000 or more during the year?	4a		X /2
	olf 'Yes,' has it filed a tax return on Form 990-T for this year?	4b	N	/ <u>A</u>
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5		X
	If 'Yes,' attach the statement required by General Instruction T	1 1		;
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either By language in the governing instrument, or			ļ
	• By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law remain in the governing instrument?	6	X	1
	Did the foundation have at least \$5,000 in assets at any time during the year? If 'Yes,' complete Part II, column (c), and Part XV	7	X	
8 a	Enter the states to which the foundation reports or with which it is registered (see the instructions). CA			i I
b	o If the answer is 'Yes' to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate) of each state as required by <i>General Instruction G? If 'No,' attach explanation</i>	8 b	Х	
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar year 2009 or the taxable year beginning in 2009 (see instructions for Part XIV)? If 'Yes,' complete Part XIV	9		X
10	Did any persons become substantial contributors during the tax year? If 'Yes,' attach a schedule listing their names and addresses SEE STATEMENT 5	10	X	(0057)
BAA	, Fo	rm 99	0-PF ((2009)

	990-PF (2009) HITTER FAMILY FOUNDATION	95-479080	3	F	age 5
Par	t VII-A Statements Regarding Activities Continued				
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of section 512(b)(13)? If 'Yes', attach schedule (see instructions)		11		x
12	Did the foundation acquire a direct or indirect interest in any applicable insurance contract before Argust 17, 2008?		12		x
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption. Website address	application?	13	Х	L
14		no ► <u>310 55</u> 90034	2-0	770	
15	Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041 — Check here		N/A		
D	and enter the amount of tax-exempt interest received or accrued during the year	▶ 15			N/A
Par	t VII-B Statements Regarding Activities for Which Form 4720 May Be Required			_	
	File Form 4720 if any item is checked in the 'Yes' column, unless an exception applies.			Yes	No
1 a	During the year did the foundation (either directly or indirectly).				
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person?	Yes X No	-		ļ
	(2) Borrow money from, lend money to, or otherwise extend credit to (or accept it from) a disqualified person?	Yes X No			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person?(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person?	Yes X No			
	(5) Transfer any income or assets to a disqualified person (or make any of either available for the benefit or use of a disqualified person)?	Yes X No			
	(6) Agree to pay money or property to a government official? (Exception. Check 'No' if the foundation agreed to make a grant to or to employ the official for a period after termination of government service, if terminating within 90 days.)	Yes X No			
b	olf any answer is 'Yes' to 1a(1)-(6), did any of the acts fail to qualify under the exceptions described in Regulations section 53 4941(d)-3 or in a current notice regarding disaster assistance (see the instruction	ns) [?]	1 b	N	/A
	Organizations relying on a current notice regarding disaster assistance check here	▶ 🗌			,
c	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected before the first day of the tax year beginning in 2009?		л. 1с		<u>X</u>
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation defined in section 4942(j)(3) or 4942(j)(5))				1
а	At the end of tax year 2009, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning before 2009?	Yes X No			1
	If 'Yes,' list the years ► 20 , 20 , 20 , 20				İ
b	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942((relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a all years listed, answer 'No' and attach statement — see the instructions.)		2 b		/A
c	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years h 20, 20, 20, 20	ere			
3 a	Did the foundation hold more than a 2% direct or indirect interest in any business	Yes X No			
b	olf 'Yes,' did it have excess business holdings in 2009 as a result of (1) any purchase by the foundation or disqualified persons after May 26, 1969, (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the foundation had excess business holdings in 2009)		3b	- _N	
4 a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?		4a		<u>x</u>
	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2009?	· - · · · · · · · · · · · · · · · · · · ·	4b	~ -	X
BAA		For	m 99 0)-PF (2009)

Part VII-B Statements Regarding Activit	ies for Which Form	n 4720 May Be Requ	uired (continue	<u>d)</u>		
5a During the year did the foundation pay or incu	-		_	_		
(1) Carry on propaganda, or otherwise attemption	pt to influence legislation	on (section 4945(e))?	Yes	X No		
(2) Influence the outcome of any specific pub on, directly or indirectly, any voter registra	ation drive?		Yes	X No		
(3) Provide a grant to an individual for travel,			∐ Yes	X No		1
(4) Provide a grant to an organization other t in section 509(a)(1), (2), or (3), or section	han a charitable, etc, or 1 4940(d)(2)? (see instri	rganization described uctions)	Yes	X No		
(5) Provide for any purpose other than religio educational purposes, or for the prevention	us, charitable, scientific on of cruelty to children	c, literary, or or animals?	Yes	X No		
b If any answer is 'Yes' to 5a(1)-(5), did any of described in Regulations section 53 4945 or ir (see instructions)?	the transactions fail to a current notice regard	qualify under the except ding disaster assistance	tions		5 b	N/A
Organizations relying on a current notice rega	ırdıng disaster assistanı	ce check here	•			
c If the answer is 'Yes' to question 5a(4), does tax because it maintained expenditure respon If 'Yes,' attach the statement required by Reg	isibility for the grant?		N/A Yes	No		
6a Did the foundation, during the year, receive a on a personal benefit contract?	ny funds, directly or ind	lirectly, to pay premiums	Yes	X No		
b Did the foundation, during the year, pay prem	iums, directly or indirec	ctly, on a personal benef	fit contract?		6 b	Х
If 'Yes' to 6b, file Form 8870				E23		,
7a At any time during the tax year, was the found b If yes, did the foundation receive any proceed				X No	7b	N/A
Part VIII Information About Officers, D				d Emp	,	
and Contractors	·					
1 List all officers, directors, trustees, foundation			•			
(a) Name and address	(b) Title and average hours per week devoted to position	(c) Compensation (If not paid, enter -0-)	(d) Contributions employee benef plans and deferre compensation	ıt ˈˈc	Expense other allo	e account, wances
ANNA HITTER	PRES./DIRECT	0.	. ().		0.
1180 S . BEVERLY DRIVE LOS ANGELES, CA 90035	2.00					
SABRINA HITTER	SEC./DIRECTO	0.	().		0.
9034 ALTO CEDRO DR	1.00					
BEVERLY HILLS, CA 90210						
STEVE HITTER 2361 BROOKSHIRE LN	TREAS./DIREC	0.	().		0.
LOS ANGELES, CA 90077						
	•					
2 0		luded on line 1 and in	-A		NONE !	
2 Compensation of five highest-paid employee (a) Name and address of each employee	(b) Title and average	(c) Compensation	(d) Contributions			account,
paid more than \$50,000	hours per week devoted to position	(c) Compensation	employee benefing plans and deferre compensation	it I c	ther allo	
NONE						
					-	
Tatal number of other annulus and are 600 000		<u> </u>		<u> </u>		
Total number of other employees paid over \$50,000	TEEA0306L 0	07/06/09			orm 990	- PF (2009)

95-4790803

Page 6

Form 990-PF (2009) HITTER FAMILY FOUNDATION

' ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' ' '		
Form 990-PF (2009) HITTER FAMILY FOUNDATION	95-479	
Part VIII Information About Officers, Directors, Trustees, Foundation and Contractors (continued)	n Managers, Highly Paid E	mployees,
		
3 Five highest-paid independent contractors for professional services — (see instruenter 'NONE.'	ctions). If none,	
• (a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
NONE		
	***************************************	<u> </u>
Total number of others receiving over \$50,000 for professional services	•	0
Part IX-A Summary of Direct Charitable Activities		
Part IX-A Summary of Direct Chantable Activities	·	
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical informations and other beneficiaries served, conferences convened, research papers produced, etc.	ation such as the number of	Expenses
1 <u>N/A</u>		
2		
2		
3		
	_	
4		
Dad IV D C	· · · · · · · · · · · · · · · · · · ·	
Part IX-B Summary of Program-Related Investments (see instructions)	
Describe the two largest program-related investments made by the foundation during the	tax year on lines 1 and 2	Amount
1 <u>N/A</u>		
2		
_ ~		
All other program-related investments See instructions.		·-

TEEA0307L 07/06/09

0.

Form **990-PF** (2009)

Total. Add lines 1 through 3

BAA

see instructions.)		
1 Fair market value of assets not used (or held for use) directly in carrying out charitable, etc, purposes a Average monthly fair market value of securities	1 a	1,568,102.
b Average of monthly cash balances	1 b	1,136,511.
c Fair market value of all other assets (see instructions)	1c	
d Total (add lines 1a, b, and c)	1 d	2,704,613.
e Reduction claimed for blockage or other factors reported on lines 1a and 1c		
(attach detailed explanation) . 1e	0.	
2 Acquisition indebtedness applicable to line 1 assets	2	0.
3 Subtract line 2 from line 1d	3	2,704,613.
4 Cash deemed held for charitable activities Enter 1-1/2% of line 3 (for greater amount, see instructions)	4	40,569.
5 Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	2,664,044.
6 Minimum investment return. Enter 5% of line 5.	6	133,202.
Part XI Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private op and certain foreign organizations check here ► and do not complete this		undations
1 Minimum investment return from Part X, line 6	1	133,202.
2a Tax on investment income for 2009 from Part VI, line 5	J.	
b Income tax for 2009 (This does not include the tax from Part VI.).	7	
c Add lines 2a and 2b	2 c	180.
3 Distributable amount before adjustments. Subtract line 2c from line 1	3	133,022.
4 Recoveries of amounts treated as qualifying distributions	4	
5 Add lines 3 and 4	5	133,022.
6 Deduction from distributable amount (see instructions)	6	•
7 Distributable amount as adjusted Subtract line 6 from line 5 Enter here and on Part XIII, line 1	7	133,022.
Part XII Qualifying Distributions (see instructions)		
	$\overline{}$	
1 Amounts paid (including administrative expenses) to accomplish charitable, etc, purposes a Expenses, contributions, gifts, etc — total from Part I, column (d), line 26		124 020
	1a	134,920.
b Program-related investments — total from Part IX-B	1 b	
2 Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc, purposes	2	
3 Amounts set aside for specific charitable projects that satisfy the: a Suitability test (prior IRS approval required) 	3a	******
b Cash distribution test (attach the required schedule).	3 b	
4 Qualifying distributions Add lines 1a through 3b Enter here and on Part V, line 8, and Part XIII, line 4	4	134,920.
5 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income. Enter 1% of Part I, line 27b (see instructions).	5	180.
6 Adjusted qualifying distributions. Subtract line 5 from line 4	6	134,740.
Note: The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating w qualifies for the section 4940(e) reduction of tax in those years	hether the f	oundation

BAA

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2008	(c) 2008	(d) 2009
1 Distributable amount for 2009 from Part XI, line 7				133,022.
2 Undistributed income, if any, as of the end of 2009				155,022.
a Enter amount for 2008 only .	!		0.	,
b Total for prior years. 20, 20, 20		0.		
3 Excess distributions carryover, if any, to 2009:				
a From 2004				ļ
b From 2005				
c From 2006				, ,
d From 2007				,
e From 2008 9,055.	0 055			
f Total of lines 3a through e.	9,055.			
4 Qualifying distributions for 2009 from Part XII, line 4 ► \$ 134, 920.				
a Applied to 2008, but not more than line 2a			0.	,
•			U.	
 Applied to undistributed income of prior years (Election required — see instructions) 		0.		
c Treated as distributions out of corpus (Election required — see instructions)	0.			
d Applied to 2009 distributable amount				133,022.
e Remaining amount distributed out of corpus	1,898.		·	
5 Excess distributions carryover applied to 2009	0.			0.
(If an amount appears in column (d), the same amount must be shown in column (a).)				
came amount must be shown in column (syl)				!
6 Enter the net total of each column as				
indicated below:	10 052			
a Corpus Add lines 3f, 4c, and 4e Subtract line 5	10,953.		 	
b Prior years' undistributed income Subtract line 4b from line 2b		0.		
c Enter the amount of prior years' undistribut-				
ed income for which a notice of deficiency has been issued, or on which the section				
4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b Taxable				
amount - see instructions.		0.		
e Undistributed income for 2008 Subtract line 4a from			0	
line 2a. Taxable amount — see instructions			0.	
f Undistributed income for 2009. Subtract lines				
4d and 5 from line 1. This amount must be distributed in 2010				0.
7 Amounts treated as distributions out of				0.
corpus to satisfy requirements imposed				ļ
by section 170(b)(1)(F) or 4942(g)(3) (see instructions)	0.			
, ,				
8 Excess distributions carryover from 2004 not applied on line 5 or line 7 (see instructions)	0.			
9 Excess distributions carryover to 2010. Subtract lines 7 and 8 from line 6a	10,953.			1
10 Analysis of line 9	· · · · · · · · · · · · · · · · · · ·		-	
a Excess from 2005				
b Excess from 2006				·
c Excess from 2007				1
d Excess from 2008. 9, 055.				,
e Excess from 2009 1,898.				

TEEA0310L 07/06/09

BAA

Form **990-PF** (2009)

Part XV | Supplementary Information (continued)

3 Grants and Contributions Paid During the	rear or Approved for Fut	ure Paymen	it	
Recipient	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	substantial contributor	recipient		
a Paid during the year SEE STATEMENT 6				
Total	<u></u>	l	<u> </u>	134 005
b Approved for future payment	T]	<u>▶ 3</u> ;	134,085.
Total			<u>► 3i</u>	>

D1 VV// A	l 🛦 i	(
Part XVI-A	Anaiysis	of Income-Produci	ng Activities

Inter ares	s amounts unless otherwise indicated.	Unrelated	business income	Fycluded by	section 512, 513, or 514	<u>, </u>
	•	(a) Business code	(b) Amount	(c) Exclu- sion	(d) Amount	(e) Related or exempt function income
	ram service revenue:	 		code		(see the instructions)
в		 		+ +		
		 - -				_
_						
f						
g Fees	and contracts from government agencies					
2 Mem	bership dues and assessments					
3 Interes	st on savings and temporary cash investments			14	51,243.	
	ends and interest from securities			14	8,118.	
	ental income or (loss) from real estate:					
	-financed property					.,
	lebt-financed property	ļļ_			_	
	ntal income or (loss) from personal property		····			
	r investment income			 -		
	r (loss) from sales of assets other than inventory	ļ				19,654.
	ncome or (loss) from special events	—				
	s profit or (loss) from sales of inventory		<u>.</u>	 		
11 Othe		<u> </u>		+		
a		 				
		 		+ +		
		+ +				
u				+ + +		
12 Subte	otal Add columns (b), (d), and (e)	 		1 1	59,361.	19,654.
	Add line 12, columns (b), (d), and (e)				13	79,015.
	sheet in the instructions for line 13 to verify ca	alculations)				
	-B Relationship of Activities to the		ment of Evenir	nt Burnoss		
alt XVI	·	•				
Line No. ▼	Explain below how each activity for which in accomplishment of the foundation's exempt	ncome is reporte purposes (othe	ed in column (e) of r than by providing	Part XVI-A co	ontributed important h purposes) (See t	ly to the he instructions)
N/A	<u> </u>					
	***				_	· · · ·
						
		·				
	· · · · · · · · · · · · · · · · · · ·					
	*		•			
					· · · · · · · · · · · · · · · · · · ·	
			·			
	· · · · · · · · · · · · · · · · · · ·	 				
	 			-		
				<u> </u>		
			 			
			· · · · · · · · · · · · · · · · · · ·			
		-				

Part XVII Information Regarding Transfers To and Transactions and Relationships With Noncharitable Exempt Organizations

		•								Yes	No
	descr	ne organization directly ibed in section 501(c) ng to political organiza	of the Code (c	engage in any of the fo other than section 501	ollowing wit c)(3) organ	h any othe izations) (er organization or in section	on 527,		162	1
				a noncharitable exem	pt organiza	ation of					
	(1) C	ash							1 a (1)		X
	(2) C	ther assets							1a (2)		Χ
	b Other	transactions									ا ^{ــــــــــــــــــــــــــــــــــــ}
	(1) S	ales of assets to a no	ncharitable exe	empt organization				•	1b(1)		<u>X</u>
	` '			able exempt organizati	on				1 b (2)	ļ	X
	\- /	lental of facilities, equ	• •	er assets .					1 b (3) 1 b (4)	<u> </u>	<u>X</u>
	 (4) Reimbursement arrangements (5) Loans or loan guarantees (6) Performance of services or membership or fundraising solicitations 										X
		=		6					1b (5)		X
	• • •					205			1b (6)		X
	Conan	ng or racinties, equipm	nent, maning in	sts, other assets, or pa	ald employ	563				<u> </u>	
	d If the the go	answer to any of the oods, other assets, or ransaction or sharing	above is 'Yes,' services given	complete the following by the reporting found how in column (d) the	g schedule lation. If th value of th	Column (e foundati	(b) should alve on received lother assets.	vays show the fair less than fair marke	market val et value in ed	ue of	
(6) Line no	(b) Amount involved		of noncharitable exempt orga				sfers, transactions, and		ngement	S
N	/A			<u> </u>							
_	-										
_			1				. -				
_		ļ	-				· -				
			+			· · · · · · · · · · · · · · · · · · ·					
			1								
											
_	·										
_									· · · · ·		
		· · · · · · · · · · · · · · · · · · ·									
			1								
	2a Is the descr	foundation directly or ibed in section 501(c)	indirectly affilion of the Code (o	ated with, or related to ther than section 501(o, one or m c)(3)) or in	ore tax-ex section 52	cempt organi 27?	zations	Yes	X	No
_	b If 'Ye	s,' complete the follow		11.7							
	/7	(a) Name of organiza	tion	(b) Type of or	ganization		(c) Description of rel	ationship		
	/A					-					
					-	-					
_											
_		 									
	Under pena	alties of perjury, I declare tha	I I have examined the	nis return, including accompan duciary) is based on all inform	ying schedules	and stateme	nts, and to the be	est of my knowledge and I	oelief, it is true	e, correc	t, and
	complete I	Declaration of preparer (other	than taxpayer or fic	luciary) is based on all inform	ation of which	preparer has	any knowledge				
		Mana +	Patton				הואני	► DDECTDENT	1		
5_GZ	Sina	ature of officer or trustee	<u>wwc</u>			Date	<i></i>	PRESIDENT			
Ŋ	Sign	active of officer of trustee				Date		Prep	arer's Identify	ing num	ber
Ħ	Paid	Preparer's signature	n na-			1/	1/10	Check if (See	Signature in	the instr	s)
HERE	Pre-	SIE		RFMAN		$-\mathcal{U}_{\mathcal{L}}$	טונט	employed ► N/	A		
-	parer's Use	Firm's name (or yours if self.	MAN & RUT					EIN N/A			
	Only	address, and) WILSHIRE ANGELES,	CA 90048				Bhan a	3) 934	_110	n
	\ A	ZIP code LUS	THOULES,	CA 30040				Phone no (32	Form 99		
0/	•								1 01111 33	UTF (ムロジフナ

Schedule B (Form 990, 990-EZ, or 990-PF)

Department of the Treasury Internal Revenue Service

Schedule of Contributors

► Attach to Form 990, 990-EZ, or 990-PF

OMB No 1545-0047

2009

Name of the organization	·	Employer identification number				
HITTER FAMILY FOUNDATION		95-4790803				
Organization type (check one):						
Filers of:	Section:					
Form 990 or 990-EZ 501(c)() (enter number) organization 4947(a)(1) nonexempt charitable trust not treated as a private foundation 527 political organization						
Form 990-PF	orm 990-PF X 501(c)(3) exempt private foundation 4947(a)(1) nonexempt charitable trust treated as a private foundation 501(c)(3) taxable private foundation					
Check if your organization is covered by the Go Note: Only a section 501(c)(7), (8), or (10) organization	eneral Rule or a Special Rule. anization can check boxes for both the General Rule an	d a Special Rule. See instructions				
General Rule —						
X For an organization filing Form 990, 990-E2 contributor. (Complete Parts I and II)	Z, or 990-PF that received, during the year, \$5,000 or m	ore (in money or property) from any one				
Special Rules —						
509(a)(1)/170(b)(1)(A)(vi) and received from any	form 990 or 990-EZ, that met the 33-1/3% support test of one contributor, during the year, a contribution of the greater or (ii) Form 990-EZ, line 1. Complete Parts I and II.					
For a section 501(c)(7), (8), or (10) organiz aggregate contributions of more than \$1,00 prevention of cruelty to children or animals	ation filing Form 990 or 990-EZ, that received from any 0 for use <i>exclusively</i> for religious, charitable, scientific, Complete Parts I, II, and III	one contributor, during the year, literary, or educational purposes, or the				
For a section 501(c)(7), (8), or (10) organization filing Form 990 or 990-EZ, that received from any one contributor, during the year, contributions for use <i>exclusively</i> for religious, charitable, etc, purposes, but these contributions did not aggregate to more than \$1,000. If this box is checked, enter here the total contributions that were received during the year for an <i>exclusively</i> religious, charitable, etc, purpose. Do not complete any of the parts unless the General Rule applies to this organization because it received nonexclusively						
religious, charitable, etc, contributions of \$5	5,000 or more during the year.	► \$				
Caution: An organization that is not covered by the General Rule and/or the Special Rules does not file Schedule B (Form 990, 990-EZ, or 990-PF) but it must answer 'No' on Part IV, line 2 of their Form 990, or check the box on line H of its Form 990-EZ, or on line 2 of its Form 990-PF, to certify that it does not meet the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF).						
BAA For Privacy Act and Paperwork Reduction for Form 990, 990EZ, or 990-PF.	on Act Notice, see the Instructions Sch	edule B (Form 990, 990-EZ, or 990-PF) (2009)				

	B (Form 990, 990-EZ, or 990-PF) (2009)	Page 1	of 1 of Part I
Name of org	R FAMILY FOUNDATION	' '	r identification number 790803
	Contributors (see instructions)	100 -	
(a) · Number	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
	ANNA HITTER 1180 S. BEVERLY DR. #602 LOS ANGELES, CA 90035	\$ <u>300,000.</u>	Person X Payroll Noncash (Complete Part II if there is a noncash contribution)
(a) Number	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution)
(a) Number	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroli Noncash (Complete Part II if there is a noncash contribution)
(a) Number	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution)
(a) Number	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution)
(a) Number	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution)
BAA	TEF A07021 06/23/09	Schedule B (Form 990), 990-EZ, or 990-PF) (2009)

(b)
Description of noncash property given

(b)
Description of noncash property given

BAA

(a) No. from Part I

(a) No. from

Part I

Schedule B (Form 990, 990-EZ, or 990-PF) (2009)

(c) FMV (or estimate) (see instructions)

(c) FMV (or estimate) (see instructions) (d) Date received

(d) Date received Name of organization

Employer identification number

HITTER FAMILY FOUNDATION 95-4790803

Part III | Exclusively religious, charitable, etc. individual contributions to section 501(c)(7), (8), or (10)

	Transferee's name, addres	Transfer of gift	Rela	tionship of transferor to transferee		
		(e)				
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift		(d) Description of how gift is held		
	Transferee's name, addres	s, and ZIP + 4	Rela	tionship of transferor to transferee		
		(e) Transfer of gift				
<u> </u>						
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift		(d) Description of how gift is held		
	(e) Transfer of gift Transferee's name, address, and ZIP + 4			Relationship of transferor to transferee		
No. from Part I	Purpose of gift	Use of gift		Description of how gift is held		
(a)	(b)	(b) (c) Purpose of gift Use of gift				
	Transferee's name, addres	(e) Transfer of gift ss, and ZIP + 4	Rela	ationship of transferor to transferee		
	N/A					
Part I	Purpose of gift	Use of gift		Description of how gift is held		

2009	FEDERAL STATEMENTS	PAGE 1		
·	HITTER FAMILY FOUNDATION	95-4790803		
STATEMENT 1 FORM 990-PF, PART I, LINE 16B ACCOUNTING FEES ACCOUNTING FEE	(A) (B) NET (C) EXPENSES INVESTMENT ADJUSTED PER BOOKS INCOME NET INCOME . \$ 1,000. \$ 250.	(D) CHARITABLE PURPOSES 750.		
STATEMENT 2 FORM 990-PF, PART I, LINE 18 TAXES	TOTAL \$\frac{\$ 1,000.}{\$ 1,000.} \frac{\$ 250.}{\$ 5 0.} \frac{\$ 5 0.}{\$ 5 0.} \$ 5 0	<u>3 750.</u>		
CALIFORNIA FRANCHISE TAX BO EXCISE TAXES REGISTRY OF CHARITABLE TRUS	1,548.	75.		
STATEMENT 3 FORM 990-PF, PART I, LINE 23 OTHER EXPENSES				
INVESTEMENT ACCOUNT FEES &	(A) (B) NET (C) EXPENSES INVESTMENT ADJUSTED PER BOOKS INCOME NET INCOME CHARGES \$ 11,449. TOTAL \$ 11,449. \$ 11,449. \$ 11,449.	(D) CHARITABLE PURPOSES 0.		
STATEMENT 4 FORM 990-PF, PART IV, LINE 1 CAPITAL GAINS AND LOSSES FO	PR TAX ON INVESTMENT INCOME			
ITEM	(B) HOW (C) DATE ACQUIRED ACQUIRED PURCHASED 12/02/2008 PURCHASED 6/04/2008 PURCHASED 1/29/2009 PURCHASED 1/29/2009 PURCHASED 1/29/2009 PURCHASED 2/23/2009 PURCHASED 5/29/2008 PURCHASED 9/23/2008 PURCHASED 9/23/2008 PURCHASED 1/21/2009 PURCHASED 1/21/2009 PURCHASED 1/21/2009 PURCHASED 1/25/2008 PURCHASED 1/25/2008 PURCHASED 1/25/2008 PURCHASED 1/25/2008 PURCHASED 1/25/2008	10/08/2009 5/15/2009 5/12/2009 5/01/2009 6/04/2009 5/29/2009 6/12/2009 10/15/2009 1/30/2009 1/09/2009 5/12/2009		

•

2009

FEDERAL STATEMENTS

PAGE 2

HITTER FAMILY FOUNDATION

95-4790803

STATEMENT 4 (CONTINUED)
FORM 990-PF, PART IV, LINE 1
CAPITAL GAINS AND LOSSES FOR TAX ON INVESTMENT INCOME

1TEM 14 15 16 17 18 19 20 21 22 23	55000 SHELT 175 BANK OF .7600 CITION 26130 CITION 50000 FED IN 50000 FED IN 50000 FED IN 681.50 FID 300 STARBUO	L INTL FIN F AMERICA (GROUP INC GROUP INC HOME LN BK HOME LN BK HOME LN BK HOME LN BK ELITY ADV	SCRIPTION CORP DIVERSIFIED	INTL	(B) ACQUI PURCH	AC AC AC ASED ASED	DATE OUIRED 05/2009 (31/2007 (08/2007 (08/2007 (21/2008 (01/2008 (17/2008 (07/2008 VARIOUS (02/2007	(D) DATE SOLD 10/01/2009 1/27/2009 7/30/2009 8/25/2009 4/22/2009 7/02/2009 7/08/2009 7/23/2009 4/24/2009 3/16/2009
ITEM 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23	(E) GROSS 50,000. 25,000. 50,000. 50,000. 50,000. 50,000. 50,000. 50,000. 50,000. 50,000. 50,000. 50,000. 50,000. 50,000. 50,000. 50,000. 50,000. 50,000. 363.	(F) DEPREC. ALLOWED	(G) COST BASIS 50,000. 25,016. 49,665. 100,000. 49,893. 49,950. 49,575. 50,017. 50,000. 50,075. 50,225. 49,146. 351. 56,671. 9,224. 89,408. 49,843. 25,086. 50,000. 50,000. 15,978. 7,989.	(H) GAIN (LOSS) 016. 335. 0. 107. 50. 42517. 075225. 854. 12. 3,0738,102. 36,265. 15786. 0. 08,3984,704.	(I) FMV 12/31/69	(J) ADJ. BAS. 12/31/69	(K) EXCESS (I) - (J)	(L) GAIN (LOSS) \$ 0. -16. 335. 0. 107. 50. 425. -17. 0. -75. -225. 854. 12. 3,073. -8,102. -1. 36,265. 157. -86. 0. 0. -8,398. -4,704. \$ 19,654.

STATEMENT 5 FORM 990-PF, PART VII-A, LINE 10 SUBSTANTIAL CONTRIBUTORS DURING THE TAX YEAR

NAME OF SUBSTANTIAL CONTRIBUTOR ADDRESS OF SUBSTANTIAL CONTRIBUTOR

ANNA HITTER

1180 S. BEVERLY DR. # 602 LOS ANGELES, CA 90035

20	2
Zυ	ひጛ

PAGE 3

HITTER FAMILY FOUNDATION

95-4790803

STATEMENT 6 FORM 990-PF, PART XV, LINE 3A RECIPIENT PAID DURING THE YEAR

NAME AND ADDRESS	DONEE RELATIONSHIP	FOUND- ATION STATUS	PURPOSE OF GRANT	 AMOUNT
1939 CLUB 8950 WEST OLYMPIC BLVD. # 437 LOS ANGELES, CA 90211	NONE		GENERAL FUNDRAISING	\$ 12,000.
CEDAR SINAI MEDICAL P.O BOX 48750 ROOM 2416 LOS ANGELES, CA 90048	NONE		GENERAL FUNDRAISING	5,000.
AMER. GATHERING OF JEWISH HOLO 122 WEST 30 STR NEW YORK, NY 10001	NONE		GENERAL FUNDRAISING	500.
MDA 2800 28TH STR. #153 SANTA MONICA, CA 90405	NONE		GENERAL FUNDRAISING	500.
FRIENDS OF SHEBA 9911 W. PICO BLVD. # 1220 LOS ANGELES, CA 90035	NONE		GENERAL FUNDRAISING	21,000.
ZIMMER CHILDREN MUSEUM 6505 WILSHIRE BLVD. # 100 LOS ANGELES, CA 90048	NONE		GENERAL FUNDRAISING	5,000.
SYNAGOGUE FOR PERFORMING ARTS 11727 BARRINGTON COURT # 205 LOS ANGELES, CA 90049	NONE		GENERAL FUNDRAISING	1,000.
CITY OF HOPE 1055 WILSHIRE BLVD LOS ANGELES, CA 90017	NONE		GENERAL FUNDRAISING	2,000.
APLA 611 S. KINGSLEY DRIVE LOS ANGELES, CA 90035	NONE		GENERAL FUNDRAISING	1,000.
MARCH OF DIMES 3699 WILSHIRE BLVD. # 520 LOS ANGELES, CA 90010	NONE		GENERAL FUNDRAISING	1,000.
ART CENTER COLLEGE OF DESIGN 1700 LIDA STREET PASADENA, CA 91103	NONE		GENERAL FUNDRAISING	1,000.
MEDICAL STUDENTS FOR CHOICE P.O. BOX 70190 OAKLAND, CA 94612	NONE		GENERAL FUNDRAISING	1,000.

20	09
	~~

PAGE 4

HITTER FAMILY FOUNDATION

95-4790803

STATEMENT 6 (CONTINUED) FORM 990-PF, PART XV, LINE 3A RECIPIENT PAID DURING THE YEAR

	DONEE	FOUND- ATION	PURPOSE OF		11073YM
NAME AND ADDRESS	<u>RELATIONSHIP</u>	STATUS	GRANT	- —	AMOUNT
SIMON WEISEN. CENTER 1399 S. ROXBURY DRIVE LOS ANGELES, CA 90035	NONE		GENERAL FUNDRAISING	\$	1,000.
JEWISH FEDERATION 6505 WILSHIRE BLVD. LOS ANGELES, CA 90048	NONE		GENERAL FUNDRAISING		10,000.
ICCF SEVEN PENN PLAZA #1602 NEW YORK, NY 10001	NONE		GENERAL FUNDRAISING		500.
AMERICAN FRIENDS OF HEBREW UNIVERSITY ONE BATTERY PARK PLAZA 25TH FLOOR NEW YORK, NY 10004	NONE		GENERAL FUNDRAISING		5,000.
HAMAKOM P.O. BOX 6777 SANTA FE, NM 87502	NONE		GENERAL FUNDRAISING		500.
PETERSEN MUSEUM 6060 WILSHIRE BLVD LOS ANGELES, CA 90036	NONE		GENERAL FUNDRAISING		1,385.
PROJECT ANGEL FOOD 922 VINE STREET LOS ANGELES, CA 90038	NONE		GENERAL FUNDRAISING		2,000.
STAND WITH US P.O. BOX 341069 LOS ANGELES, CA 90034	NONE		GENERAL FUNDRAISING		1,500.
FRIENDS OF THE ISREAL DEFENSE FORCE 4640 ADMIRALTY WAY, SUITE 406 MARINA DEL REY, CA 90292	NONE		GENERAL FUNDRAISING		5,000.
MPP FOUNDATION P.O. BOX 77492 CAPITOL HILL WASHINGTON, DC 20013	NONE		GENERAL FUNDRAISING		2,500.
ADL 10495 SANTA MONICA BLVD LOS ANGELES, CA 90025	NONE		GENERAL FUNDRAISING		1,000.

20	09

PAGE 5

HITTER FAMILY FOUNDATION

95-4790803

STATEMENT 6 (CONTINUED) FORM 990-PF, PART XV, LINE 3A RECIPIENT PAID DURING THE YEAR

	DONEE	FOUND- ATION	PURPOSE OF	
NAME AND ADDRESS	RELATIONSHIP	STATUS	GRANT	 AMOUNT
JEWISH FAMILY SERVICES OF LA 6505 WILSHIRE BLVD., SUITE 500 LOS ANGELES, CA 90048	NONE		GENERAL FUNDRAISING	\$ 1,000.
VENICE FAMILY CLINIC 604 ROSE AVENUE VENICE, CA 90291	NONE		GENERAL FUNDRAISING	1,000.
HEBREW UNION COLLEGE - HUC-JIR KELSMAN 3077 UNIVERSITY AVENUE LOS ANGELES, CA 90007	NONE		GENERAL FUNDRAISING	6,000.
AMERICAN INSTITUTE FOR CANCER RESEARCH 1759 R STREET. NW WASHINGTON, DC 20009	NONE		GENERAL FUNDRAISING	700.
VISTA DEL MAR CHILD & FAMILY SERVICES 2300 MOTOR AVENUE LOS ANGELES, CA 90034	NONE		GENERAL FUNDRAISING	500.
BEIT T'SHUVAH 8831 VENICE BLVD. LOS ANGELES, CA 90034	NONE		GENERAL FUNDRAISING	10,500.
ALZHEIMER'S DISEASE RESEARCH 22512 GATEWAY CENTER DRIVE CLARKBURG, MD 20871	NONE		GENERAL FUNDRAISING	500.
L.A. MUSEUM OF THE HOLOCAUST 6435 WILSHIRE BLVD, STE 303 LOS ANGELES, CA 90048	NONE		GENERAL FUNDRAISING	500.
LUPUS LA 9220 SUNSET BLVD, STE 200 LOS ANGELES, CA 90069	NONE	,	GENERAL FUNDRAISING	2,000.
OUR HOUSE 1663 SAWTELLE BLVD, STE 300 LOS ANGELES, CA 90025	NONE		GENERAL FUNDRAISING	500.
CHAPMAN UNIVERSITY ONE UNIVERSITY DRIVE ORANGE, CA 92866	NONE		GENERAL FUNDRAISING	1,000.

20	n	0
ZU	U	y

PAGE 6

HITTER FAMILY FOUNDATION

95-4790803

STATEMENT 6 (CONTINUED) FORM 990-PF, PART XV, LINE 3A RECIPIENT PAID DURING THE YEAR

	DONEE	FOUND- ATION	PURPOSE	OF
NAME AND ADDRESS	RELATIONSHIP	STATUS	GRANT	AMOUNT
WESTSIDE FOOD BANK 1710 22ND STREET SANTA MONICA, CA 90404	NONE		GENERAL FUNDRAISING	\$ 500.
CHABAD OF CALIF 741 GAYLEY AVENUE LOS ANGELES, CA 90024	NONE		GENERAL FUNDRAISING	700.
JEWISH VOCATIONAL SERVICE 6505 WILSHIRE BLVD, STE 200 LOS ANGELES, CA 90048	NONE		GENERAL FUNDRAISING	1,000.
UCLA FOUNDATION 302 ROYCE HALL LOS ANGELES, CA 90095	NONE		GENERAL FUNDRAISING	1,000.
L.A.R.C 29890 NORTH BOUQUET CANYON RD SAUGUS, CA 91390	NONE		GENERAL FUNDRAISING	500.
UNION RESCUE MISSION 545 S. SAN PEDRO STREET LOS ANGELES, CA 90013	NONE		GENERAL FUNDRAISING	1,000.
BRANDEIS UNIVERSITY OFFICE OD DEV. P.O.BOX 549110 WALTHAM, MA 02454	NONE		GENERAL FUNDRAISING	10,000.
FRIENDS OF AFRICA FOUNDATION 4 CLEMENT CIRCLE CAMBRIDGE, MA 02138	NONE		GENERAL FUNDRAISING	1,000.
AMERICAN STROKE ASSOCIATION 614 NORTH DETROIT ST LOS ANGELES, CA 90036	NONE		GENERAL FUNDRAISING	500.
SINAI AKIBA ACADEMY 10400 WILSHIRE BLVD LOS ANGELES, CA 90024	NONE		GENERAL FUNDRAISING	1,800.
FJRP 3700 WILSHIRE BLVD, #957 LOS ANGELES, CA 90010	NONE		GENERAL FUNDRAISING	10,000.
TEMPLE ALIYAH 6025 VALLEY CIRCLE BLVD WOODLAND HILLS, CA 91367	NONE		GENERAL FUNDRAISING	500.
				TOTAL \$ 134,085.

FORM 990-PF

Part II Line 10a, 10b and 10c

Elilo Tod, Tob dila Too				
•	MATURITY DATE	<u>SHARES</u>	COST	FAIR MARKET VALUE
	ć	2009	2009	(2009]
GOVERNMENT OBLIGATIONS		_		_
FED FARM CR BK 3 8%17	APR 27, 2017	50,000	50,018 00	48,784 75
FED FARM CR BK 4 2%19	APR 01, 2019	50,000	50,000 00	49,001 75
FED FARM CR BK 4 4%19	SEPT 16, 2019	50,000	50,193 00	49,230 10
FED FARM CR BK 4 25%19	JAN 22, 2019	50,000	50,000 00	48,642 15
FED HOME LN BK 3%14	FEB 18, 2014	50,000	49,993 00	50,144 95
FED NATL MTG 3 05%14	NOV 10, 2014	25,000	24,901 92	24,817 55
TOTAL GOVERNMENT OBLIGATIONS			275,105 92	270,621 25
MUNICIPAL BONDS				
KLICKITAT CNTY 4 702%16	DEC 01, 2016	50,000	49,817 50	48,722 50
SAN LUIS OBISPO 7 45%19	SEPT 01, 2019	50,000	55,492 50	52,995 00
	02. 1 01, 2010	00,000		
TOTAL MUNICIPAL BONDS			105,310 00	101,717 50
EQUITIES				
VARIOUS		VARIOUS	392,893 67	398,056 68
		VAINIOUS		
TOTAL EQUITIES			392,893 67	398,056 68
OTHER ASSETS				
VARIOUS		VARIOUS	75,335 44	79,774 00
TOTAL OTHER ASSETS			75,335 44	79,774 00
				
CORPORATE BONDS				
ARCHER-DANIELS 5 45%18	MARCH 15 2018	50,000	54,229 00	53,351 85
BERKSHRE HTH FIN 5 4%18 BOEING CO 4 875%20	MAY 15 2018	50,000	49,843 00	52,102 10 75 205 03
BURLINGTON NORTH 5 75%18	FEB 15 2020 MARCH 15 2018	75,000 50,000	77,278 50 54,862 00	75,305 03 53,591 60
EMERSON ELEC CO 5 125%16	DEC 01 2016	50,000	50,908 00	52,460 65
GENERAL ELECT CO 5 25%17	DEC 06 2017	50,000	52,011 50	51,026 50
GOLDMAN SACHS GP 5 30%12	FEB 14 2012	50,000	49,255.00	53,012 45
HOME DEPOT INC 5 2%11	MARCH 01 2011	50,000	50,353 00	52,223 60
JP MORGAN CHASE 6%18	JAN 15 2018	50,000	50,018 00	54,119 30
MORGAN STAN DW 8%10	JUN 15 2018	50,000	51,268 00	51,532 75
PEPSICO 5 0%18	JUN 01 2018	25,000	25,743 00	26,109.38
SHELL INTL FINAN 4 3%19	SEPT 22, 2019	55,000	55,575 33	54,425 03
VERIZON NEW JER 5 875%12	JAN 17, 2012	50,000	50,628 00	53,369 70
TOTAL CORPORATE BONDS			671,972 33	682,629 94
TOTAL ACCOUNT COST & VALUE			1,520,617 36	1,532,799 37

FORM 990-PF

Line 10a and 10b

Equities	Quantity	Market Price	Market Value Cost Basis
ACE LIMITED NEW F SYMBOL: ACE	175.0000	50.4000	8,820.00 8,002 36
STATE CORPORATION MBOL ALL	150.0000	30.0400	4,506.00 <i>9,053 45</i>
ANALOG DEVICES INC SYMBOL ADI	450.0000	31.5800	14,211.00 12,451 45
APACHE CORP SYMBOL APA	125.0000	103.1700	1 2,896.25 <i>9,178 70</i>
AUTO DATA PROCESSING SYMBOL. ADP	200.0000	42.8200	8,564.00 8,576 95
BHP BILLITON LTD ADR F SPONSORED ADR 1 ADR REP 2 ORD SYMBOL BHP	250.0000	76.5800	19,145.00 14,094 40
BP PLC ADR F SPONSORED ADR SYMBOL BP	250.0000	57.9700	14,492.50 14,787 18
C V S CAREMARK CORP SYMBOL. CVS	350.0000	32.2100	11,273.50 11,783.95
CITIGROUP INC SYMBOL. C	3,100.0000	3.3100	10,261.00 10,607 18
CONOCOPHILLIPS SYMBOL. COP	175.0000	51.0700	8,937.25 11,656 20
CONSTELLATION ENERGY CO SYMBOL CEG	250.0000	35.1700	8,792.50 5,921 33

FORM 990-PF

Line 10a and 10b

Equition (continued)	Quantity	Market Price	Market Value	
Equities (continued)			Cost Basis	
* ∰TCO WHSL CORP NEW	250.0000	59.1700	14,792.50	
S-AMBOL. COST			14,221 55	
DOMINION RES INC VA NEW	350.0000	38.9200	13,622.00	
SYMBOL. D			11,473.76	
FLIR SYSTEMS INC	325.0000	32.7300	10,637.25	
SYMBOL. FLIR			7,410 79	
GENERAL DYNAMICS CORP	150.0000	68.1700	10,225.50	
SYMBOL GD			11,777 45	
GENERAL ELECTRIC COMPANY	450.0000	15.1300	6,808.50	
SYMBOL. GE			16,281.95	
GENZYME CORPORATION	125.0000	49.0100	6,126.25	
SYMBOL. GENZ			8,773 95	
IŅŢEL CORP	800.0000	20.4000	16,320.00	
BOL INTC			15,576 95	
KRAFT FOODS INC	450.0000	27.1800	12,231.00	
SYMBOL KFT			12,568 45	
LILLY ELI & COMPANY	425.0000	35.7100	15,176.75	
SYMBOL: LLY			14,859 39	
LOCKHEED MARTIN CORP	250.0000	75.3500	18,837.50	
SYMBOL: LMT			18,048 30	
MC DONALDS CORP	275.0000	62.4400	17,171.00	
SYMBOL MCD			15,312 70	

FORM 990-PF

Line 10a and 10b

-	Quantity	Market Price	Market Value	
Equities (continued)			Cost Basis	
^ ्रह INC CLASS B	250.0000	66.0700	16,517.50	
BOL NKE			13,038 95	_
NOVARTIS A G SPON ADR F	175.0000	54.4300	9,525.25	
SPONSORED ADR			10,123 20	
I ADR REP 1 ORD SYMBOL NVS				
		04.5000	40.070.05	
DRACLE CORPORATION SYMBOL ORCL	525.0000	24.5300	12,878.25 <i>8,982 15</i>	
and the second of the second o				
PROCTER & GAMBLE	300.0000	60.6300	18,189.00	
SYMBOL PG			19,548 95	-
TARGET CORPORATION	150.0000	48.3700	7,255.50	
SYMBOL TGT			9,231 95	
/ F CORPORATION	250.0000	73.2400	18,310.00	
SYMBOL VFC			18,155 78	
CERO ENERGY CORP NEW	150.0000	16.7500	2,512.50	
SYMBOL VLO			8,165 45	
ODAFONE GROUP NEW ADR F	775.0000	23.0900	17,894.75	
SPONSORED ADR		24.5555	15 361 70	
ADR REP 10 ORD				
SYMBOL. VOD				
WAL-MART STORES INC	150.0000	53.4500	8,017.50	
SYMBOL WMT			7.471 09	
WASTE MANAGEMENT INC DEL	400.0000	33.8100	13,524.00	
SYMBOL WM			12,020 87	
	000 0000	40.700-		
ENERGY INC	206.0000	46.5300	9,585.18	
SMBOL. XTO			8,375 19	

FORM 990-PF

Line 10a and 10b

OTHER ASSETS - VARIOUS

	Quantity	Market Price	Market Value
Other Assets			Cost Basis
ITC: ARES MSCI BRAZIL INDX	300 0000	74.6100	22,383.00
SYMBOL EWZ			14,265 95
ISHARES MSCI CDA IDX FD	500.0000	26.3300	13,165.00
CANADA INDEX FUND SYMBOL EWC			12,714 95
ISHARES TR S&P 100 INDEX	200 0000	51.4500	10,290.00
S & P 100 INDEX SYMBOL OEF			13,397 95
้มกู่ GUARD EUROPEAN	700.0000	48.4800	33,936.00
MBOL. VGK		-	34,956 59
Godour Ardez de la Salad			The Total of the

Part II Line 10a, 10b and 10c

FORM 990-PF

•	MATURITY DATE	<u>SHARES</u>	COST	FAIR MARKET VALUE
	(2008	2008	2008
GOVERNMENT OBLIGATIONS				
FED FARM CR BK 4.1%13 FED FARM CR BK 4.25%13 FED HM LN MTG 4 15%13 FED HOME LN BK 4%12 FED HOME LN BK 4%13 FED HOME LN BK 5 5%15 FED HOME LN BK 4 15%13 FED HOME LN BK 5.55%15 FED HOME LN BK 5.55%15 FED HOME LN BK 5 375%15 FED HOME LN BK 5 375%15 FED NATL MTG 4%13 TOTAL GOVERNMENT OBLIGATIONS	MAY. 15, 2013 MAY. 01, 2013 MAY. 29, 2013 MAR. 12, 2012 APR 22, 2013 JULY 02, 2015 JAN. 30, 2013 JULY. 08, 2015 JULY. 09, 2012 JULY. 23, 2015 AUG 12, 2013	50,000 50,000 50,000 50,000 25,000 50,000 50,000 50,000 50,000	49,665.00 49,893.00 49,480.50 50,018 00 49,843.00 25,098.00 50,075 05 50,000.00 50,228.00 50,000.00 49,018.00	50,447 75 50,428.65 50,475.30 50,545 10 50,345.70 25,457.23 50,096 40 50,956 00 50,040 50 50,980 50 50,398.50
<u>EQUITIES</u>				
VARIOUS		VARIOUS	171,514.49	126,235 62
TOTAL EQUITIES			171,514.49	126,235.62
MUTUAL FUNDS				
FIDELITY ADV DIVERSIFIED		714	16,329 30	8,834.05
TOTAL MUTUAL FUNDS			16,329 30	8,834.05
OTHER ASSETS				
VARIOUS		VARIOUS	140,396.85	93,252.00
TOTAL OTHER ASSETS			140,396.85	93,252 00
CORPORATE BONDS				
BELLSOUTH CORP 4.20%09	SEPT. 15, 2009	50,000	49,718 24	50,281 15
TOTAL CORPORATE BONDS			49,718.24	50,281.15
TOTAL ACCOUNT COST & VALUE			901,277 43	808,774.45

FORM 990-PF

Line 10a and 10b

Equities	Quantity	Market Price	Market Value Cost Basis
ACE LIMITED NEW F SYMBOL ACE	175.0000	50.4000	8,820.00 <i>8,002 36</i>
STATE CORPORATION MBOL ALL	150.0000	30.0400	4,506.00 <i>9,053 45</i>
ANALOG DEVICES INC SYMBOL ADI	450.0000	31.5800	14,211.00 12,451 45
APACHE CORP SYMBOL APA	125.0000	103.1700	12,896.25 <i>9,178 70</i>
AUTO DATA PROCESSING SYMBOL ADP	200.0000	42.8200	8,564.00 8,576 95
BHP BILLITON LTD ADR F SPONSORED ADR 1 ADR REP 2 ORD SYMBOL BHP	250.0000	76.5800	19,145.00 14,094 40
BP PLC ADR F SPONSORED ADR BR REP 6 ORD SYMBOL. BP	250.0000	57.9700	14,492.50 14,787 18
C V S CAREMARK CORP SYMBOL. CVS	350.0000	32.2100	11,273.50 11,783 95
CITIGROUP INC SYMBOL. C	3,100.0000	3.3100	10,261.00 10,607 18
CONOCOPHILLIPS SYMBOL. COP	175.0000	51.0700	8,937.25 11,656 20
CONSTELLATION ENERGY CO SYMBOL CEG	250.0000	35.1700	8,792.50 5,921 33

FORM 990-PF

Line 10a and 10b

Equition (continued)	Quantity	Market Price	Market Value
Equities (continued)			Cost Basis
↑ 遍TCO WHSL CORP NEW	250.0000	59.1700	14,792.50
S-AMBOL COST			14,221 55
DOMINION RES INC VA NEW	350.0000	38.9200	13,622.00
SYMBOL. D			11,473 76
FLIR SYSTEMS INC	325.0000	32.7300	10,637.25
SYMBOL. FLIR			7,410 79
GENERAL DYNAMICS CORP	150.0000	68.1700	10,225.50
SYMBOL GD			11,777 45
GENERAL ELECTRIC COMPANY	450.0000	15.1300	6,808.50
SYMBOL. GE			16,281 95
GENZYME CORPORATION	125.0000	49.0100	6,126.25
SYMBOL. GENZ			8,773 95
NTEL CORP	800.0000	20.4000	16,320.00
BOL INTC			15,576 95
KRAFT FOODS INC	450.0000	27.1800	12,231.00
SYMBOL KFT			12,568 45
LILLY ELI & COMPANY	425.0000	35.7100	15,176.75
SYMBOL LLY			14,859 39
LOCKHEED MARTIN CORP	250.0000	75.3500	18,837.50
SYMBOL LMT		. 3.3233	18,048 30
MC DONALDS CORP	275.0000	62,4400	17,171.00
SYMBOL MCD			15,312.70

FORM 990-PF

Line 10a and 10b

Equities (continued)	Quantity	Market Price	Market Value Cost Basis
BOL NKE	250.0000	66.0700	16,517.50 13,038 95
NOVARTIS A G SPON ADR F SPONSORED ADR 1 ADR REP 1 ORD SYMBOL NVS	175.0000	54.4300	9,525.25 10,123 20
ORACLE CORPORATION SYMBOL ORCL	525.0000	24.5300	12,878.25 8,982 15
PROCTER & GAMBLE SYMBOL PG	300.0000	60.6300	18,189.00 19,548 95
TARGET CORPORATION SYMBOL TGT	150.0000	48.3700	7,255.50 9,231 95
V F CORPORATION SYMBOL VFC	250.0000	73.2400	18,310.00 18,155 78
VILERO ENERGY CORP NEW SYMBOL VLO	150.0000	16.7500	2,512.50 <i>8,165 45</i>
VODAFONE GROUP NEW ADR F SPONSORED ADR 1 ADR REP 10 ORD SYMBOL VOD	775.0000	23.0900	17,894.75 15.361 70
WAL-MART STORES INC SYMBOL WMT	150.0000	53.4500	8,017.50 7,471 09
WASTE MANAGEMENT INC DEL SYMBOL WM	-400.0000	33.8100	13,524.00 12,020 87
ENERGY INC	206.0000	46.5300	9,585.18 8,375 19

FORM 990-PF

Line 10a and 10b

OTHER ASSETS - VARIOUS

	Quantity	Market Price	Market Value
Other Assets			Cost Basis
ITO ARES MSCI BRAZIL INDX	300.0000	74.6100	22,383.00
SYMBOL EWZ			14,265 95
ISHARES MSCI CDA IDX FD	500.0000	26.3300	13,165.00
CANADA INDEX FUND SYMBOL EWC			12,714 95
ISHARES TR S&P 100 INDEX	200.0000	51.4500	10,290.00
S & P 100 INDEX SYMBOL OEF		· · · · · · · · · · · · · · · · · · ·	13,397 95
ar/IGUARD EUROPEAN	700.0000	48.4800	33,936.00
MBOL VGK	•		34,956 59
			TENTAND .
		(E) (P) (E) (E)	